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4-1  � ���� ��	�
��� 
� ����� �������:  
4-1-1 �����:  

� ����� �	
� ���
� �
��� �� ���� ��� ������� ��� ���� �!� ���	�"� # � 	� $���% $�& � '��()*	 #�*	 '��+, �
%+

�� �%
� ��
� + -�� ��./� ����� ���
� 0	 �
.�� ����.  ����� '��� ���� 2	�3)*	 #�
%
� ���
� 0	 '��()*	 4��)�� ��%

�
5� 2	�3)*	 6��� �
7� 6.8� �& �� �
� ����� �9	 	��0 �*	 -�� ��./� ��/��� :�# '	� 0	 �, ��;� ���590�� ��	 $0	

6<5� ��./� ���� :� �.8+	 �� �� ����. �� =�* �� �!�>� 4��)��� 0	 �<�  :� $+� �� 2	�3)*	 ?�.!�� 0	 @A �� �
�

�� ���� �, ��.� + B�
� C.D� �	E.� 0	 4)�	�� FGH	 #����� �D�� I
/��� $�	�J� #���� ���� . 0	 C.D� FGH	 4.
K�&

% ��/��� :� ��.� �	�J� + '�.�� �	E.� $�+�� ��./� ��	 :� ���� �, ������ + $��<���� ?�.!�� L�)/9 ��

�� ����.  

��! "�#� $%
#� �� �&�' 
�( )
� *� +	� �
,.
� /� ����0 2��4' �	�� � 2��'  �� �� 5�� +�6
,� 2��'
���� ��&� ��9� 59:; .*� �:�
� ��
=��� � +.�9� ���� �� ��� ��>?�*�� *
�. �� �&�' 
� ��@,� 2��  *� (��&�� ��
9�

5�� �������� A����� 5��B�  
4.�0 ?��8�7�M3� 6��� ���� :� '����� �*�
��!N	 �� �*	 ��+�()� + 	E;� $�& ���� �, '�.�� ��*�O� ���, 4���

�*	. L+� �� '�.�� ��*�O� �� ��;�	 �(!)3� $�& �
� . M�	�.A �"�
"P �� '�.�� ��*�O� L+� Q�3)�	)E�B( 6<� #

 '�.�� �, �5
� �� +)��
9�9� �� 4���, #��
*�(#���� �<P
� + �9�E� #  ���� I
* �� ����� '��� �!N	 M3A '
O��

)I
/��� �� ���� M3A (��	� �")/� �, ��.� E.� +. �*	 �T� ��
� U�& �* '�.�� 4.�3� ��:  
W8	– ����� '�.�� ���� ���XY �� ���� $��� �* .Q– '�.�� Z*
)� [
\3� �0+ 4..�� ����� .2–  4..��

����� '��� �.(.��)��.�(.  

�*	 �Y�5)�	 $�&��� ?�\35� + ����� '��� �.��+ ���� #'�.�� ��*�O� L+� Q�3)�	 4�	���
� .��<�	 ?�
N ��# 

�
� �)Y�9 �T� �� '�.�� �	

� �� ���, 4."��.� + ��*�O� W!)3� L+� �
P �� ����� '��� '�.�� �*	 �)��.  

L+� �� �!� �
7� '�.�� ��*�O� W!)3� $�&:  ��/D 4��
P �� 	��, �
%
� ?��GH	 + ��/��� ?�\35� �� �)/�

�� Q�/� ���9	�% 	� ��/D �& '�.�� + '��� -./J� �� �*�� 	� �!� '�.�� ���, F
�;� 0	 + �

� ���+,.  
�� -./J� �!��� �* �� 	� ���� ��� #'�.�� 4.�3� �!]/� �*��� $	�� �

�:  

1 - +	 �!���` :4.�0 '�.�� ��*�O� �� �� #$��(� + U�5)�	 �� -)� �*�
� �
�.  
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2 - �+� �!��� :�� 4..�� �
9��
9 Z�	�� $	�� 2	�3)*	 6��D '�.�� �, �� �� �*�
�� ?��8�7� �
�.  

3 - �
* �!��� :�.8
�.  

�� c35� 2	�3)*	 6��D '�.�� ��*�O� �� �*�*	 �+� �!���  �� '�� ��*�O� '�.�� 4�	 �� �
� '�.�� �� ��	
� $��./�

4.�0 ��	�� �J��7� `+	 �!��� �� '��, �*�� �*�
�. �� =�* �� �!�>� '�.�� �� �
� 4.�0 $�&  2	�3)*	 6��D + �*�
�

��)� �
���� �<� �
��� �� + ��	�H �!��� �� d
��� ����J� 4.� $��eA�� Q�
)%	 ?�YG)�	 '�	
�& �<�, 6f>� 0	 �<� #


%+ 2	�3)*	 �!����� ���*, �� + �/.� ��/<� ��D	+ + �
.�3� ����J� M3A �� �/
�	 ��	� �  4�	 �� �	� ��5� �	
�

���� ��D	+ ����J� 0	 �)�� ���� �
.�3� ����J� ��
� �� �\35�. ���)�	 �� �;�, 0	2-�� # �J�H 6��� 4���  ����� $�
�

�*	 �����# '+�9 �& ��
� �� 	� 0�;� $�7� �	E.� �	
)� �)/��� ��� 4..�� ����� ����� 0	. L+� 0	 �<�  4..�� $�&

�, + ��*�O� W!)3� L+� �
P �� 	� ��/��� '�.�� �� �/�, #'�� Q�/� '�.�� ���)�	 �%�� ��� �/��J� -& �� 	� �& .  �&

L+� 0	 �!N�� g��)� ��D :��E� -& �� W!)3� $�& )5.� '�� ��*�O� '�.�� ���)�	 �%�� ��/� ���& �� ���� ���*	 �. 

'�	� �/��J� �� �� #2	�3)*	 �!��� g��)� �� U�5)�	 �!��� $�&  0	 '+�9 �& ��*�O� �� 0�;� $�7� ����J� �+�� �	
�

'�.�� ��� ��.� 	� �& .�� 	� �&�7� 4�	 W!)3� ?�.��;� h�*	 �� �Y�9 �T� �� ��0 i�� �� �	
�:  
- ����� '+�9A ��7D ����� ��3 :� ����� '��� 0	 ��/D �,���� '�� U�5)�	 U�H ���P 0	 �.� 0�;� $�7� ��20 – 15 %  

- ����� '+�9B �8��)�	 ����� ��4 :��/DU�H +� 0	 �� ����� '��� 0	 ���&�)6�
� �!.*
� ����9 �� �& �Y�5)�	 $�&  ( U�5)�	

�
��� '�� . '+�9 4�	 0�;� $�7�30 – 20   %�� ����.  

- ����� '+�9C� 4<�� ����� ��5 :/D ���� ����9 �!.*+ �� ��
� �� ����� '��� 0	 ���&�
��� '�� U�5)�	 �& . 0�;� $�7�

 0	 '+�9 4�	30  % ��60  %�*	 �.o)�.  

��/D -� $�&C��� �� �� �'
��	 �<�� �!.*+ ����9 0	 $�� '�� U�5)�	 �&  ���Y '+�9 �� ��	C1 M3� + C.�� $�&  �� ��

 '+�9C2 �� $�%���.9 .�

  
  
  

������������������������������������������������������������
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4-1-2 ��� ����	 
��
��� ���:  
-�� 0	 ����� ����� ��.� + '0	��	 4..�� + ����� ����0�	 M3� 4��� � #����� ?�Y�5)�	 $�& � + ����� 6�	�� �� [
\�

'��� 0�p, 0	 M.A �� $�	��� ���� .L+� L+� '�.�� ����0�	 $�& �� �
9��
9 $�&������ �� F

)� ��./� $�&  �� �
���

�, 0	 :��& �
T
�� �& �� '��� ��<� �N�� �
� . $�&������ �� �*�*	 L+� +� �� 	� ����� ����0�	 F
�;� �� �	
)� ����

-./J� �
9��
9 ��� $�
�.  

 ?�.!�� ���� ��<� �� ����� '�.�� 4.�� ����� �� + ����� '��� ��.� 4..�� @q* + -;� 4..�� L+� 4.)/3�  $�&

����� �� �
)��Y +� 4�	 $	�� ���� .+� 4�	 ��<� r�E� -;� + ��.� �)�	

<� �� $E!Y �.p ����� $	�� �� �*	 ��+� L

�� �+� .L+� ����� F
� 4�	 �� s>
N	  ��0
� �)�	

<� s>
��� + ����9 �
%+ ��� �� �%
� �� + '�
� '��* �Y�5)�	 $�&

�� W!)3� d�J� �� �5�	�� �
P �(� �� �	�D	 ��.� 	 �� Z*
)� ��.� ����� �� +  ���9Z*
)� 0	 '��()*  0	 �*�
& $�.9

��
��  �
%
� $�&)� $�.9 Z*
)� � C��H�8
H (�� ?�
N ���eA . �*�� ����� 0	 F
� 4�	 ����0�	 �� �*�*	 6<5�

'�.�� -;� ���+, �*	 6<� 0	 ����� �
� �� �� '�.�� ���� .����� F
� 4�	 ��#  �*�� + �*�� 6<� 4.�3� -��

�*	 '�.�� C.D� -;� ���+, .L+� E.� '�.�� 6<� ���+, �*�� $	��  �)*� +� �� �
� �� ��	� �
%+ $���)� $�&

-./J� �)Y�5.A + �)
* �� $�
� ��
� .�.�� �� �)
* L+� �� 6<� �� '�.�� $0�*  -;� 4..�� �� �	�D	 �*�
& '��* $�&

�� ���9 .L+� 4�	 L+� �& �
)/& �
.��A �D� �� ��	 '��* $�& . -;� 4..�� �+� L+���� 0	 '��()*	 �� '�.�� �	EY	  $�&

�� ��� 4�	 [�� ����.  

L+� #����� ����0�	 L+� 4.�+� 4.�0 4.�3� $�& $���, 	 �* .L+� 4�	  $E!Y ����� ����0�	 $	�� �D	+ �� + s�*�*	 �&

�� ��<� ��+� . E!Y $��.� ��0
� + �� ��.� 0	 ����� ����� '�.�� 6<� + �)�	�� �N�� 6<� ����� 4�	 I
* 6�	� ��

�� ���E.� ���� .L+� �� 0�.� �
T
� 4��� �+�� $	�� �
.�3� $�& �� ?��GH	 �D�Y d�J� �� '��� ��.� ���� ���� .

L+� �<�� �)Y�5.A ��./� L+� + I
.;��� #�!N�Y h
<�� �
��� ���& L+� 4�	 �!�% 0	 ��\� $�& �� �& �
��� . 4�	 ��

L+� �� '��� $�
� t
!� �� �	�D	 �& 4..�� �� ��.� ���� c35� 0	 @A ����� �� + t
!� �& ��.� 4.�3� @q* + ���

�� �, $��.� ��0
� + ����� '��� 6<� ���9.  

��� �!�% 0	 ��� #>�� �� '�� '���	 '�.�� ����0�	 �
.�0 +� �& �� �
����D ��./� $�&�	EY	  �	EY	Datamine �� ���� . 4�	

 ���� 6<� -& �� �*	 ���D �	EY	 '�.�� =*�
 	��5J� #�Y	�9
A
� �� �%
� �� 4.�0 $�& + �*�
� � �
%
� ?��GH	 �"�� �

 �*�'��+,  + ���+�� �+�� + ���� $��.� ��0
� + '�.�� ?��GH	 ���� ��/���  �*�� 	���+, . 6<� �f	�	 �
.�0 ��
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��� 4�	 �� =*�
� ��./� ?���<�	 �� �%
� �� '�.��  #�	EY	Datamine *	 ���D$��� �* 6<� �� �  '�.�� 0	 $	�f	�	  + �&�

����� �f	�	 	� '�.�� 0	 �J.D� + =*�
� -;� �!.*+ 4��� .  

  
  

���� �� ����	 
��
���:  
 '�.����> 0	 ����
)� �	��� �� u9 '�.�� :� 6���  $�&�K9  ���� �� �����> 4�	 0	 $�	��� $+� �  �(� �5�	�� �&

'����9 �*	.   �� �%
� ��8�7�'�� ��;�	 ?��  �"��<� �� �&��.��
)/& :��E� .�<.��;�, 0	 ��	 ��
�� + �&��.�  e�	 $�&

���� '�.�� v7* 0	 ��
� ' �
��� . 	e8L+�  4�	 �)*� M�	EY	 + ���	� $�+�O� �.w�� F��� I
.;��� �
��� �
.�3� $�&

�.w�� F���# L+� 4�	 ��	��� sG�� 0	 	� �& �� 4.� ���. 6.8� 4.�& ��  + -;� 4..�� �
�� '�.�� 4..�� `+	 L+� >��

 $��.� $�.9 Z*
)� '�.�� 4�	 $	���*	 �)Y�9 	�	�D '��()*	 ��
� �
� �� '�	� i�� ��0 �� �� .  

'�.�� ����0�	 $	�� �� �/3� �T� ��
� $ �5J� �/���   ��+� :� ?�
\� �J7
� �Y	�9
A
�)wireframe( ��,�� . ��� 4�	

��� �� ��
� �	EY	 �*	 '�� 	�%	 �T� . ��
\�)4-1(  �����3 �� �f	�	 	� �T� ��
� �Y	�9
A
� ��+� v7* 0	 $��� �&� . ��

$�	
�&�� 0	 6��� $��� 6<� 4�	 �� '��� 4.�0 v7* $�& �
� .  

��> 0	 �J.D� -;� ���+, �*�� $	�� �+� �!��� �� u9 $�& ��> �	� u9 $�& �5J� 4�	 $+� �� �	� 7D �Y	�9
A
� $ '�	� �

$�	
�&�� �!.*

��� �� ���� ��> $+� �� v7* �� �
%
� $�& ����9 '��.A �& . ���+, �*�� + �D� ���� >�� $	�� ��	 4�	

��D	+ 6<� �� '�.�� 0	 $�� ����.  
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 �����1 -4 ��� 	
�� �	
��� ��������� ���� �� ��� ����� ��

  

'���� ��
\�  $2 -4 ��5� '�
&� ��> 4�	 $ �&$ u9 4.�0 �5J� 0	 �� �*	 �	� '�� 2	�3)*	 �*�
�  ��+� $+� �� + ��	

�5J� 0	 '��, �*�� '����9 '��.A �Y	�9
A
� $ '�� �f	�	��
\� �� ��+� :� ?�
\� + ��	 ��	 .��+� 4�	 v7*  �� �%
� �� �&

�5J� �� �Y	�9
A
� ��+� �� C�7
� + �	
�&�� �Y	�9
A
� $ ���� .  

 �	�D	 ��� �!��� ����> `�J)�	 ��  ��> �& =.� �� �&)4.�0 �5J� �� �%
� ��  �*�
� (�� C�� �� ���� . ?�
\� C�� 4�	

 �.8+	 ��./� v7* 0	 '��, �*�� ?��GH	 h�*	 �� +�� �)Y�9 �T���  dG)�	 ��� + �)�� ��� $	�� ��<�	 �� �� + �
�

��> 4.��A �& �� �)Y�9 �T��� �� �
� .  

��+� ����� ��  $�& �����)'��� ���� ����� $ (�� �
%
� ?�
N 4��� ��> �� ��,  6N+ -& �� 4.��A + >�� u9 $�&

�� '��� ���� ?�
N 4��� ������� + ����9  ����� $���9 �� -.*�� . '���� ��
\�)3-4 (��+� 4�	 �� ��5� 	� �& �&� .  
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 �����2 -4 ��

 ��� �� !���� "�# $� "�# �� %��& �� �' 
�	��� (�)* ���+ ,��� ��������� ��

 "

 �� �# ���  

  
 �����3 -4 �����3 ��� �� "�*� �	�� "�# �	
��� 
	 	�.�� ���*� "�

�
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�

  

  

 �
���3-4 �
� �� ���� ���� ��� ������ �� ����� 
!��� �  

  

 �
���4-4   

  

  

  

  

 �����3 -4 	�� "�# ��� ���*� ��

�

�

  

�

�

�

�

  

  

  

  

 �����4 -4 �����*� �	�� "�# �  
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 �����6 -4 ��/0� ������5� 
 7���8� �� �.�� �� ���*� �	�� "�# ���  
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-& '�
� �

�	  '��, �*�� '��� ���� + '�� '��.A ��;� x�O8 0	 �T� ��
� ����� $�& . �Y	�9
A
� v7* �� >�� 0	 ���� 4�	

�� -)� ��� �J.J� 6<� �� ���9' ��, �*�� ����� $ . v7* �� �T���
� `
8 0	 '�
� 4�	 -;� ��*�O� $��� �!���

��> �� �& ���� . `
8 �
T
� 4�	 $	�� '�� �)Y�9 �T��� CY	620 �� �)� �*	 '�� �f	�	 ��0 �� �, -;� �� ����.  
  

  

SKIPPING�SID�VALUES�CHECK �
- RECOMMENDED�FOR�DTMS�ONLY�

 <<< NO�PERIMETER�FILE�
  <<<SUMMARY�OF�WIREFRAME�PROPERTIES >>>�

           
 =======================================  

       
Total�volume�(above���171.7)�=�������3994680885.58  

Volume�����above������620.0��=���������35645588.53    

Projected�lower�area���������=����������������0.00    

Projected�upper�area���������=���������12029994.00    

Projected�vertical�area������=����������������0.00      

Total�surface�area�����������=���������18960008.00   

Minimum�elevation������������=��������������171.72     

Maximum�elevation������������=��������������680.0  

Minimum�X�co�ord.������������=�����������494758.47  

Maximum�X�co�ord.������������=�����������496158.0  

Minimum�Y�co�ord.������������=����������3347662.00   

Maximum�Y�co�ord.������������=����������3349407.75   

Minimum�surface�dip����������=����������������0.00  

Maximum�surface�dip����������=���������������90.00  
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Number�of�triangles����������=���������������17795  
<<< TRIVOL���Complete >>> �

  

��> -;� h�*	 �� �, �
%
� 6<� + �&  `
8 �� 	� ����� -;� �&620 �� �+�� 	
�35600000 �/�	� =�<��)� . 4�	

���� 6��� -;� -;�� ��> �� �& ���� .'��� 2	�3)*	 �� `
��� �
7� �� $�
�	�Y ��	 �� �)Y�9 �T��� ����� $  #�
�

t
!� ?�
\� 2	�3)*	 '��� $�& �� ����� $ ���� .t
!� 4�	 �� }��� $�
� '��� 0	 �53� �� ���9  �
�	�Y 0	 ����� $

t
!� �D	+�� �� + ���9 2��� 2	�3)*	  6��D + =*�
)� -;� �� ���&M3� �� 2	�3)*	 ����"� $�."��% W!)3� $�& .

4��� t
!� �
�	�Y �
T
� �� �f	�	 $�
� M.A + �.8+	 $�
�	�Y �� ���9  �*	 2	�3)*	 0	 . `�� �!.*
� F
�;� �� �
�	�Y 4�	

�� �)Y�9 �T��� �%	�3)*	 ����0 �� + �
� ��� ���"� c35� 2	�3)*	 ������ �� ��D $�
�	�Y 	� �
�	�Y 4�	 �	
�6  + `
�D

�/�	� 6��� .4�	 ��  `��`�� # t
!� h�*	 �� `�� 4�	 �� �*	 '�� �f	�	 ��0 �� �.8+	  �� ���� $�&10×10×10  + �)�

t
!���0  6D	�� �� $�&5/2×5/2×5/2 �*	 '�� �f	�	 �)� .�0> s	��;�  �%
� �� ��	 �*	 �.8+	 ��./� `�� 4�	 �� �*	 ��e�

�*� �� �� ��+� '�
�  d
��� $�� -&	�Y 2	�3)*	 4.� �� 6��� �
7� `�� 4�	 �� �..o� ��<�	 ����� '��� �� ���� .  

t
!� �� �	�D	 >�� i�� �� �%
� �� -;� $�
�  $�&�*��  ��+�\� �� ����9 '��,4 -4 �8	7-4 t
!� 4�	 0	 $��+�\� $�
� 

�� ���� .��> ��*+ �� �%
� �� �E�� ����� �, �� �� ����� �
%+ ��<�	 �&t
!  >�� ����
9�E� �� E% �
��� c35� E.� �&

����"� -&	�Y.  
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�

  
 �����7 -4 "��� �� ��	);<� (����� �>�
� �'�?� @�� .;��� BC��� 
	�' ��0#	  
	 �' ,�� ��8� " �
���8-4 ,�� ��� �>�
� ;+ ���D0�
E�.  

  
 �����8 -4 ��� �� �)� ���D0�
E� G�?� ;+ 
	 �' �# � E�
 
 
	�� "�#G�? �� ���	 ���8� �# ���� . 
	 	�.�� 
	�' ���D0�
E� �� H8� B�� �����7 -4 ,�� ���+ ,���.  
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�

  
 �����9 -4  J>�K "�D�)"�?L� �� ��	 (G�?� �' MC� �� ��� N� G�?�E�
 
 �# �� ���	 ;+ 
	 ���8� �# ���� .��	� ;
�C� ,�� �'O� P��  H��D� �� ���� G�?� "�#

 
	 "�*� �� "�����2 �� �*� ���� .�� H��Q ,?*� �# G�?� RK�

	 ��� "�D� ��� ��� "�*� �� ���	 "�*� 
	 �# ����.  

  
 �����10 -4 G�?� ��� "�0� J' "�  �?L� �� ��	 �� MC�)J>�K ��	(  
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�

t
!� �� �%
� ��  �!� �	��� $�
�222984  �	��� 4�	 0	 �� ��	� �
%+ t
!�2040  6��� t
!� ?�
\� t
!�

)10*10*10 �)� (t
!� E�� ?�
\� �J��� + '0	��	 �� �& �� W!)3� $�& �
��� .t
!� �!� -;�  �&9615625  =�<��)�

�� ����.  

��	� �
%+ �;.)� +� ��.� �5��Y ?+�(� �� ���.� �T
� �)<� 4�	 ���� . Ue� }��� ��
!� `�� �� �*�;
�	 �� �)<� ��	

��> 0	 ���� .
K�& #'����9 @*+�A 0	 :P
� $�&=.� 4  v7* ���� ��./� $�	
�&�� + ��> 0	 $��./� ���0 ��
� �	�

��> �&)�Y	�9
A
� v7* (M3� �� '���9 }��� t
!� 6�	� �� $�.9�	�D �
�	�Y 0	 ��> 0	 $���0 $�& ����9 Ue� �& .

 s	��;��� ��� t
!� 4�	 �� ���9 �� �.8+	 �5���� $	�� ��
� �.8+	 �8�� $�
� �P �� ���� �� �/�  4�	 �, $�&�)�	��A �..o�

��� �&	
� �..o� ?�5� `�� .  

�� ����� B�
� ���+, �*�� $	�� �� �*	 ��	 4�	 ���9 ��� ���� ��)�	 �� �� $��
�  �� '��, �*�� -;� �/���

M3� ��, �*�� ����� B�
� �� ��� Q�� [
\3� �0+ �� 	� >�� $�& .��<�	 �� �(9 ���� s	��;� ��.� �� �7�	� �� + 

�� �8
H Z*
)� 0	 $��.� ���+, �*�� '	� 4��)�� + ��	�� �
%+ '�.�� 4�	 $	�� 4.�3� �� �� ����  u9 �� �%
� �� ��	
�

'��� ��
� ���� `
�D 6��D sG��� ����� $ .'�	�  ��
� �O7* E.� 4.�3� ��<�	 ��� 6.8� '�	� ��
� ����	 ��./� #�&  �&

./� �!N�Y + �*��� ��
� -;� �� ��/���
�� 6O� ���0 �� ��> 0	 $��./� 0	 �& �� ?�
N 4�	 �� �� '�	� �D�Y $�&  �	
�

�;.)� 4.�3� �� �
�� ��.� �� �*�� '��)�	 sG��� $	 �&� .  
   

����	 "�#� $�%��:  

 ����� ���� ����� � �!" #��$% &�� = '$(� ��� ')" �� �!" ×
� *�� +�,.� /�� 
���  

  59665600  =1.676 ×35600000 �

 ���� ��	� &�� = '$(� ��� ')" �� �!" ×
� *�� +�,.� /�� 
���  

16115787 =1.676  ×9615625 �

�
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�

  

�

4-2- ���� ��& ��' ����	 �()���:  

 �)Y�9 -.�\� 	e8 #���� ��� �Y�\� �%	�3)*	 $�& L+�� ���, ��	��� ��<�	 �� t0�� ��./� ��> $�	��� �
%+ �%
� ��
�0�	 �� �� �����9 ����0�	 �
�	�Y 0	 t0�� ��./� $�& ��> Ue� �� �	�D	 $��;� ��� . '�.�� �	

� �O� 	� �.�	 ��*�O�

-.*�
� �� ��, ��� .�
� �� �f	�	 6��� �� �
%
� �� -.3� $�& ��> �� �
%
� '�.�� 0	 ���� ��	�	 �� `	

� 4�	 �� .
 �	� u9 $�& ��> ����)�	 $�& M3� �<
�	 �� �%
� �� 2	�3)*	 �
�	�Y �� �& �, �	 '��()*	 ��<�	 + '�� t0�� ?�5� �X��

������9 	�% ����0�	 0	 E.� �& M3� 4�	 	e8 #��	�� �
%+ . '�.�� 0	 $�� 6��� ?��GH	 ���+, �*�� �
T
�� 4.
K�&
;� �f	�	 �� �	�D	 6���- �*	 '����9 ���9	�% �
7� �& ��>.  

 ��
\�4 -11 	 $�& ��> '�
&���5�6��� �.8+)t0�� $�& ��> Ue� �+�� ( ��
\� +4-12 �� �*	 ���& ��> '�
&���5�
��	 �)Y�9 �	�D '��()*	 ��
� #��;� '�.�� ��*�O� $	�� .��
\� ��4 -12 �f	�	 �
�, �� $��� M3� �� �� E.� �& ��> '����

�*	 '�� .*	 6��D $�& ��> �	��� �
� �� '��� ��
\� 4�	 �� �� �
7���&)��( �+� M3� �� '13 �*	 ��> . 4.
K�&
     ��
\�4 -13  '�	� �f	�	 '�.�� ����0�	 $	�� ����� $�& ��> �	

�� M3� 4�	 �� '�� �.�� $�& ��> 0	 $��� �* �����

�*	.  
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�

  
   '���� ��
\�4-11  6��� '�.�� �� �
%
� u9 $�& ��> �����  

  
  '���� ��
\�4 -12  �� '��()*	 ��
� $�& ��> 6��� �� �+� �!��� '�.�� ����0�	  
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�

  
  '���� ��
\�4 -13  $��� �* $��� �� 6��� �� �+� �!��� '�.�� ����0�	 �� '��()*	 ��
� $�& ��> .���	� ��.� �� :� $E.�, I�� �& ��> �)�� ��� $	��.  

 ��+�\� ��	�	 ��13 � �f	�	 :� �& '�.�� ��*�O� ?��GH	 + -;� �� '	��& 	E;� ��>�*	 '� . �!� -;� E.� ��)�	 ��
�*	 '�� �f	�	 �!� ?��GH	 `+	�% �� '	��& '�� ��*�O�.  
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�

 ��
�! ��F1:  

  

  

  

 SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�)  =  �������.�� 
Volume above �	�.�   =  ������.�� 
Projected lower area   =  �.�� 
Projected upper area   =  

��	.�� 
Projected vertical area  =  �.�� 
Total surface area   =  ����	.�� 
Minimum elevation   =  ���.�� 
Maximum elevation   =  ���.�� 
Minimum X co-ord.   =  ��
	

.�� 
Maximum X co-ord.   =  ��
���.�� 
Minimum Y co-ord.   =  �����	�.
� 
Maximum Y co-ord.   =  �������.
� 
Minimum surface dip   =  �.�� 
Maximum surface dip   =  ��.�� 
Number of triangles   =  ��	 
>>> TRIVOL Complete <<<  
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 ��
�! ��F2  

  

  

  

 SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = 	������.�� 
Volume above �	�.� = ��	�
��.�� 
Projected lower area = �.�� 
Projected upper area = ����	.�� 
Projected vertical area = �.�� 
Total surface area = �
��	�.�� 
Minimum elevation = ���.�� 
Maximum elevation = ���.�� 
Minimum X co-ord. = ������.	� 
Maximum X co-ord. = ��
�
	.	
 
Minimum Y co-ord. = �������.	
 
Maximum Y co-ord. = ����	��.�
 
Minimum surface dip = �.�� 
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Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  

  

 ��
�! ��F3  

  

  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = 	�����
.�� 
Volume above �	�.� = ��		���.
� 
Projected lower area = �.�� 
Projected upper area = �����.�	 
Projected vertical area = �.�� 
Total surface area = �
��	�.�� 
Minimum elevation = ���.�� 
Maximum elevation = ��	.�� 
Minimum X co-ord. = ������.
� 
Maximum X co-ord. = ��
��
.
� 
Minimum Y co-ord. = �������.�� 
Maximum Y co-ord. = ����		�.	
 
Minimum surface dip = �.�� 
Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  
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�

 ��
�! ��F4  

  

  
  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = ����
��.�	 
Volume above �	�.� = ������	.�� 
Projected lower area = �.�� 
Projected upper area = �	���.�� 
Projected vertical area = �.�� 
Total surface area = ����	�.
	 
Minimum elevation = ���.�� 
Maximum elevation = ��
.�� 
Minimum X co-ord. = ������.
� 
Maximum X co-ord. = ��
���.
� 
Minimum Y co-ord. = �������.�
 
Maximum Y co-ord. = �������.�� 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ��	� 
>>> TRIVOL Complete <<<  
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 ��
�! ��F5:  

  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = �����	�.
� 
Volume above �	�.� = �������.�� 
Projected lower area = �.�� 
Projected upper area = �����.�� 
Projected vertical area = �.�� 
Total surface area = ��	���.�	 
Minimum elevation = ���.�� 
Maximum elevation = ���.�� 
Minimum X co-ord. = ������.�� 
Maximum X co-ord. = ��
���.�� 
Minimum Y co-ord. = �����		.�
 
Maximum Y co-ord. = �������.�� 
Minimum surface dip = �.�� 
Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  
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 ��
�! ��F6:  

  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = 	������.�� 
Volume above �	�.� = �������.�� 
Projected lower area = �.�� 
Projected upper area = �
���.
� 
Projected vertical area = �.�� 
Total surface area = �
�

�.
� 
Minimum elevation = ���.�� 
Maximum elevation = ���.�	 
Minimum X co-ord. = ������.	
 
Maximum X co-ord. = ��
�

.�� 
Minimum Y co-ord. = �������.�
 
Maximum Y co-ord. = �������.	
 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ����  
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�

 ��
�! ��F7:  

  

  

  

 SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = 	���
��.�	 
Volume above �	�.� = �������.�� 
Projected lower area = �.�� 
Projected upper area = 
����.�� 
Projected vertical area = �.�� 
Total surface area = ��
��	.�
 
Minimum elevation = ���.�� 
Maximum elevation = ���.

 
Minimum X co-ord. = �����	.
� 
Maximum X co-ord. = ��
���.�
 
Minimum Y co-ord. = �����	�.
� 
Maximum Y co-ord. = �������.	
 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  
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�

 ��
�! ��F8:  

  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above 
��.�) = ���

�
.�� 
Volume above �	�.� = ����	��.�� 
Projected lower area = �.�� 
Projected upper area = ����		.�� 
Projected vertical area = �.�� 
Total surface area = 	��	�
.	� 
Minimum elevation = 
��.�	 
Maximum elevation = ���.�� 
Minimum X co-ord. = ������.	� 
Maximum X co-ord. = ��
���.�� 
Minimum Y co-ord. = �������.
� 
Maximum Y co-ord. = ����
	�.�� 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  
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1388-1387

�

 ��
�! ��F9:  

  

  

  

 SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above 
��.�) = ���

�
.�� 
Volume above �	�.� = ����	��.�� 
Projected lower area = �.�� 
Projected upper area = ����		.�� 
Projected vertical area = �.�� 
Total surface area = 	��	�
.	� 
Minimum elevation = 
��.�	 
Maximum elevation = ���.�� 
Minimum X co-ord. = ������.	� 
Maximum X co-ord. = ��
���.�� 
Minimum Y co-ord. = �������.
� 
Maximum Y co-ord. = ����
	�.�� 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  
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�

 ��
�! ��F10:  

  

  

  

 SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = ��	����.�� 
Volume above �	�.� = �������.�� 
Projected lower area = �.�� 
Projected upper area = ���		�.�� 
Projected vertical area = �.�� 
Total surface area = ������.�� 
Minimum elevation = ���.�� 
Maximum elevation = ���.�
 
Minimum X co-ord. = ����	�.
� 
Maximum X co-ord. = ��
���.�
 
Minimum Y co-ord. = �������.
� 
Maximum Y co-ord. = �����
�.	
 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ���� 
>>> TRIVOL Complete <<<  
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��� ���� ������ �� �� �
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�

 ��
�! ��F11:  

  

  

  

 SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = �������
.
	 
Volume above �	�.� = ����
�	.�� 
Projected lower area = �.�� 
Projected upper area = ����		.�� 
Projected vertical area = �.�� 
Total surface area = ������.�� 
Minimum elevation = ���.�� 
Maximum elevation = ���.�� 
Minimum X co-ord. = ������.�� 
Maximum X co-ord. = ������.�� 
Minimum Y co-ord. = ����
��.�� 
Maximum Y co-ord. = ������
.
� 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ��� 
>>> TRIVOL Complete <<<  
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�

 ��
�! ��F12:  

  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above ���.�) = �������.	� 
Volume above �	�.� = �	�����.�� 
Projected lower area = �.�� 
Projected upper area = 	�����.�� 
Projected vertical area = �.�� 
Total surface area = 	�
	
�.�� 
Minimum elevation = ���.�� 
Maximum elevation = ��
.�� 
Minimum X co-ord. = ��
���.�� 
Maximum X co-ord. = ��
���.�� 
Minimum Y co-ord. = ����
��.�� 
Maximum Y co-ord. = �����	�.�
 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = ��� 
>>> TRIVOL Complete <<<  
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��
�! ��F13:  

  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above 
��.�) = ���	�
��.�� 
Volume above �	�.� = ���
	��.�� 
Projected lower area = �.�� 
Projected upper area = 	�
�
�.�� 
Projected vertical area = �.�� 
Total surface area = 	�����.�	 
Minimum elevation = 
��.�� 
Maximum elevation = ���.
� 
Minimum X co-ord. = ��
��
.�� 
Maximum X co-ord. = ��
���.�� 
Minimum Y co-ord. = �������.	
 
Maximum Y co-ord. = �������.
� 
Minimum surface dip = �.�� 
Maximum surface dip = ��.
� 
Number of triangles = 	�
 
>>> TRIVOL Complete <<<  
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� �
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�����������  
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�

 6� $
\�13 ��>:  

  

  

SKIPPING SID VALUES CHECK - RECOMMENDED FOR DTMS ONLY 
>>> NO PERIMETER FILE 
>>> SUMMARY OF WIREFRAME PROPERTIES <<< 
======================================= 
Total volume (above 
�
.�) = ������	��.�� 
Volume above �	�.� = ��������.�� 
Projected lower area = �.�� 
Projected upper area = 		���	�.�� 
Projected vertical area = �.�� 
Total surface area = 	������.	
 
Minimum elevation = 
�
.�	 
Maximum elevation = ��
.�� 
Minimum X co-ord. = ������.	� 
Maximum X co-ord. = ������.�� 
Minimum Y co-ord. = �����	�.
� 
Maximum Y co-ord. = �������.
� 
Minimum surface dip = -��.�� 
Maximum surface dip = ��.�� 
Number of triangles = �
�	� 
>>> TRIVOL Complete <<<  
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�

�� ����� `+�% '����)4 -1 (��5� '�
&� $ ?��GH	 �!� 4�	 ��> �& �� ����  
.�

��< ���>? �!")'$(� ���( 

1  553600.14  

2  1283744.1  

3 1488239.74  

4 1906508.2  

5 2024260.69  

6  1504039.2  

7 1195159.13  

8 3323825.45  

9 3323825.45  

10  3690530.4  

11 5202768.03  

12 4890692.96  

13  4667850.94  


B C>D  35055044.43  

`+�%)4 -1(-;� ��> $�& u9 6��� '	��& �� -;� �!� , ���   
��
�!��F)K�)����$9�(  +N�&��  
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�

4-3-  �� ���E�� ��F� ���GH ��D�% ���������� 
��� 
�:  
  

� $	 ��> u9 2	�3)*	 L+����� ��
,  4��� ���� �� 6�� $	�� �
.��� 6�	�� $�.9��� @q* + ��
8 Z*
� ��	���

 ?�.!�� '�"�, + �
� �� ��;�	 ��� ���% $0�* '���, + ��� �
.* @q* + '�� �)�	��� �O7* �!H�� 	�)�	 �� =.���

Y�� �&	
� ��	�	 + 0�p, ��� �
.* $	�)�	 0	 g���)� ��	��� �� ����� '��� 2	�3)*	#�  0	 >��)�	 u9 I
* ���� ��
� $	��

�� �&	
� '��()*	 �
<.A 6.� �� + ��;(�	  + $0�/��A '�� �
.� M.A $��;.)*	 �0+�!� Z*
� ����� '��� �O7* $�& �!H��

�� �&	
� $�	��� �!H�� .  

 i�H �;.)� ���Y�5)�	  ��> �.��+ $+� M.A L	E9 +�& > �& 4.� �!H�� @
% 4.
K�& '����9 c35� ���3� + ��

�*	 '�� ��	��� C.D� �
H �� E.� ���, . �!H�� ��% ��7J� ?�
N �� $��;.)*	 �0+�!� '�")*� :� ���
5.A 4�	���
�

�
� �&	
� �Y�N �� �
D�� G��� $�	��� . '��� �*�
� �3�� + '�� �.�� $�& �5J� h�*	 �� $+� M.A 2	�3)*	 i�H +

�*	 �)Y��eA ?�
N �����.  

  

 

 �����11 -4 �����'� �	
��� 
	 ���*� �	�� "�# ���  

 

�
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�����������  
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�

4-3-1 �*+#� 
,�#. ��)�� �� ���� �� ��/!�,0 ���) 5��6 ���!� 79;: 

O�� PQ�R S��4��� ���T A
B ���� +� �

:��U >�. ���� P��.� V�W� �� ��:  

  $�&��/��� $	�� ��	���)*	 0��+� L+� �� ��;(�	 + $��(� -)/.* '�
� ��> $	 ��<� $	 �� �+� . C�� �� �� ���&��/���

 0	 �)��5 '�� '�.�
A �)� ��	 �� 2	�3)*	 �A	�<*	+ �
)�	�� #�!��� + �<.��<� 6.� Z*
� �
� .'�+�O� ����� $�&  >
���

 0	 �)��15  + ��� �)�10  ��5 ���	� F�(��	 �)� .6.� �� '����� ?��7D $�&  �� �
.��� �� + '�� ��% ��
8 �� �<.8+��.&

O��� 6J)
� �.8+	 ���� ��� 6 �
�.  

L+� 4.��� �� ���A ���	 �9� ��/��� $	�� �)�� L�� $�& '��� ��� �� 6<� �*�� + $	 $�+ 80-70% �� 	�%	 �
� .

����.�	 + :&, #�.
�!�	 #�.�
8+� �� �9�
8, ���3)�	 $��<���� �� M&�� 	� d
!3� ��& + �&� 4�  M&�� $	�� �&

���� '��� M.A ?	�..o��� ���	�.  
 
4-3-2- <=
" ���&�6 5���,� ��>?�� @)� ���� ���A %�! ���� <
�!� B��� �� �' ��C�� ��6 ��:  

 �� ?	�� '0	��	 M&��150 -100 '�

���� Z*
� �)�.!.� ?�
N 6O� �� �<Y + '�
��P $�& �� ��.9 . �� t�� + :��

 ���� ���)��	� ���� ($��� M�	�% �� ���� `���p '	��& �� (B��� @q� M3� �� ��	� 6���� �� ���� ��;� ��E�� $�& (

�� ?�
N ��.9 .?�
N �� @q�B �� �)* + �	� @.!<� 0	 ��� �� + ��

� �
�.  

  

�� @��) �
� � D��#�:  
�����	 �	�.:  0	 �..o�5/2  @���	 6O� �� ���.)*� �./� $��)�	 �� ���� '��% �)�
!.�)6��� $�)*+� ( �T� ��
� �./�

�8�(*, ��	� ��*�
� G��� . �	��/K9 ��)*��� �� �<��E� �� �%
� ��)30 �)�
!.� ( ��./� ���
�
�� 6O� �� ���)*+� �./�

�*	 �Y�N �� �
D�� x�O8 ��& 0	 + =*�
�.  

+�.� ���
�: �*	 '����9 �(��� 6��� �
7� ���*� ��� �
�E& + �)�	� Q��5�	 @���	 6O� �� ��� . ��*
� �<�� �90�� ��

 0�9�*	 '�.*� ����	 �� E.�.  


�' "
�C� R��0�:  �
� 4.K�& + ��	� �
X� ?+�()� $�& �.��% �� �)*+� 4��
P 6��� $�)*+� �� ��.*� �./� �H

�*	 �)
* + �)�
N ��.� $0�+�5� �J7
� ���� �!N	 �.8��Y 6��� $�)*+� . �H '��)/9 d����	 + �& ���0�� �� �%
� ��
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�

�9 c35� �J7
� �� i�H $	�%	��	� �
X� �9��)/9 �� @���	 ��
�	�.A $�&�)*+� �� ��� ��)/� �	
% $+�.� ��� . ��

����9 �&	
� �/.� �)�	� �� E.� c\3)� $+�.� 4.��� >��)�	 �	��/K9 ��)*��� ���	
% ?G.\O� �	E.� �� �%
�.  

T+ R��0�: )� $�& Q, -�* �� C.�� '�P �J!� 4��
P �J7
� �� 6��� �����+� 0	 �..o� h�*	 �� �� �*	 �
%
� ?+�(

�
�� $�	���� Q, $�& '�P 4�	 0	 �	
� �� C.�� '�P �	��	 0
;� ��� ?�
N �� #����9 c35� $	 �J7
� ?��8�7�.  

 �� E.� �, $�& ���* ��0 + ���
� + ��	� �")Y�� ��*
� ��	 �� ��>�� 6./��)A �	��/K9 ��)*��� �� �)(9 �K�, �� �%
� ��

� 4.��� $���0 ���*	 '� . $0�* `��Y #�)�
N ��*
� ��;�	 0	 �..o� �J7
� �� u9 $�+,�Y ������� + ���� $0�* `��Y

�
�� �&	
� `
O)� E.� 	� �J7
� ��\)D	 ����)%	 �Y�5.A + ��� $+�.� .  

  

4-4- "	���K� 
 �0� 7�*V�/� :  

�J7
� �� u9 ����� '��� $�+	�Y + 2	�3)*	 $�& �
�E& ��*�O� �� M3� 4�	 ��  2	�3)*	 i�H $��\)D	 Z�	�� �*�� ��
 $��\)D	 Z�	�� �� �%
� �� �� ���9 �� ��* + �)�	��A 6��� '�.��-  ��
� ����� '��� �	0�� ��8�7� + �J7
� �)�
N

 -.*�� ��8�7� ��
� '�.�� [
\� �� $�+	�Y + $��<���� �.8��Y 0	��	 -5P ?	���N �
�E9 + �
5� #�J7
� �� #�T�
���9.  

�O� ��% '�

� ���� + �& '�

� �.8
� 0	 �G�)*	 h�*	�� $	 �
�E& $�& '�	� L�	E9 0	 M3� 4�	 �� �)Y�9 ��;�	 ?��*
�*	 '��, �*�� ��*� $�& �Y��� 4.
K�& #��)�� $�& . �
�E& ��
9 u.& + '�� ��*�O� `��� h�*	 �� �& �
�E& �����

�*	 '�5� �
.�5.A $0�	.  

����* $�& �
�E& `+	�% ��0 ���*	 '�� '��+, :.<(� �� $	 �.  

 @��E ���F� �
���) :  

 7�+ BC��� :  

X���  "�! *
�. ���� ���9'   �� O*��)Y
�� ��>B(  

1  `���� ��
8 3803 W0A '�")*� :�  1850000  

2  �<.��<� 6.� '�")*� :�  1500000  
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�

3  ��	+ '�")*� :�  72000  

4  ��.* Q, �E3�2000$�).8 '�")*� :�  45000  

�%�  3467000  

  

 7�WC��� :  

X���  "�!  R����   ���� O*��)Y
��(  
�� O*��  

 )Y
�� ��>B(  

1  �8�� + $�	�	 ���)��* 40 800000 32000  

2  ��
* �E3�12000$�).8  660  6600  

��%  38600  

 

"�Z 5�
[ A��\� ��
��� :!
� ���� 5
& A��\� ��
��� ]F^ 2� +��
' 5
& A��\� ��
���]
,��
' 2  

  

%� �!��C�) ���� ��� �#
 :  

 �?0��� "�# �0�E# :  

X���  "�!  ���9'  
 �>����

�.
�B
�)Y
��(  

�.
�%
� �>����  

 )Y
�� ��>B(  

1  ���� �*�A�* 1 5000000  60000  

2  ��
8 '�
�	� 1 5000000  60000  
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�

3  �<.��<� 6.� '�
�	� 1 5000000  60000  

4  ?���	�� `
]/� 1 2600000  31200  

5   ����"� 1 2600000  31200  

6  '��* �9��� 2 2600000  62400  

7  ���� �
Y `
]/� 1 1200000  1200000  

8  h���/� + �	� �)Y� 1 3000000  36000  

9   Eq�,  1 2600000  31200  

��% 9 -  324000  

 

 4)Y�9 �T� �� ��70 % + ���Y��� ��.� C� �	

�� �
J�2 ��� C��* + L	��A '��  #��
���� `�* ����A �!
*�A $�& �
�E&

e���.� 6�� i�5� .  

 

 

   +�:��U A
B �:�>B                                                      :           Y
�� ��>B226800   =70 *  %324000  

     Y
�� ��>B550800       =226800   +324000  

 

 ,��� �0�E# :  

X���  5��� c�.   �.�*�� ��W�
�%
� ��W� �. ���� 5��d)Y
��(   �� 5��d)Y
�� ��>B(  
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���%  )���%(  

1  6.f+0�9 120 24000 170  4080000  

2  4�E
� 25 5000 4000  20000000  

��%  24080000  

 

 2�?�� �e. �� 
�40  � 2f�� 5�
� ��6�*
� 5��� �;��20  5��� �:�>B �� (5.�� 2f�� 5�
� 2�>:� �;��

*� 5,'�
gT :  

 2f�� ��W�)���%   (10600  =1000  +9600 ) =20 %× 5000 ) + (40 %× 24000(  

    Y
�� ��>B53000 ) =5000 ×10600(  

 Y
�� ��>B63000  =53000  +10000   

 +?�W� h*��% � ��>�� �:�>B :  

 ���f � i
g% � /:�T ( j=� ( �k� ��
! +:��� h*��% ��
' � ���� 5�
�7000000 ����� ��?�� �e. �� Y
��.  

 �\f �:�>B :  

 ��T� /� �.�*���\f � h�� � �=. �B A��*�15000 ��! +� +:�� j�U ��9� �
:��
� A��� Y
�� .  

    Y
�� ��>B32400  = Y
�� =32400000  =15000  *8  *270  

 A���
l. � ]����9' �:�>B :  
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� �
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�����������  
1388-1387

�

 Y�
9�10  � ]F^ 2�!
� O*�� �;��5 ��! +� ��?�� �e. �� ]
,��
' O*�� �;�� .  

   Y
�� ��>B348630 ) =5 * %38600  ) + (10 * %3467000(  

 �d�=�� A
B �:�>B �g�
�� :  

5  �
�� m�? A
B �:�>B *� �;��g����� �.  

�                 +�:��U A
B �:�>B16200         Y
�� ��>B  

�         5��� A
B �:�>B       24080          Y
�� ��>B  

�     h*��% � ��>�� A
B �:�>B    70000           Y
�� ��>B  

�         �\f A
B �:�>B           32400           Y
�� ��>B  

�     A���
l. � ]����9' A
B �:�>B348630    Y
�� ��>B  

    Y
�� ��>B 39955   =5 * % N�&799110    Y
�� ��>B  

 �.
�%
� A�
& A
B �:�>B �� :  

  Y
�� ��>B839065   =39955  +799110   

��%�' 5�?>n : 100000   Y
� �� 2'  

1- �.
�%
� ��
U 5��d :�

2- +�%�� m�o� 2�?�� �e. �� 
�100  �!
g�� ��0 "���  �.
�%
� ��
U 5��d ( �� 2' /� A�*� �� Y
��.�
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1388-1387

�

     Y
�� ��>B100000  =  Y
��100000000  *100000  

 O��� �� ��
��� :  

 Y�
9�25 ����� �g�
�� ��9� A�
& A
B �:�>B �;��.  

�� ��>B Y
209766  =25* %839065  

 pk
��� �g�
�� :�

 �.
�%
� ]F^ )�!
� A��� pk
��� �:�>B20 % �.
�%
� ]
,��
' A��� �12 % ��! ��?�� �e. ���

698032  =693400  +4632  =20 %×3467000  +12% ×38600  

  ��! h
�' 5��d �g�
�� :  

 �.
�%
� A�
& A
B �:�>B     839065      Y
�� ��>B  

B        ��
U 5��d A
B �:�>   10000       Y
�� ��>B  

     �.
�%
� pk
��� A
B �:�>B698032    Y
�� ��>B  

 �� 5��d              :           1547097 Y
�� ��>B   

  

 O��? 5��d :  



                                                                                      
  
  

 
����

����� ��	
 ����
�� ����
 ������
 

                � � �����	
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�

      2' �B A�*
�22000  *� 5,'�
gT �.
�%
� O��? 5��d � �!
g�� Y
�� :  

 Y
�� ��>B2200000    =2200000000  =22000  *100000  

 O��? *� �;
� ��� :  

Y
�� ��>B652903  =1547097  -  2200000  

 ��
��� 5���� q�. �g�
�� :  

���  

 5�
[ ��
����

  18.62 =   %100 × )3505600   /652903  (  

 ��
��� 5���� ���� �g�
�� :  

 �
�65  = Y
�5.37  =18.62/0  ÷1  

4-2-1 � ��I ����� �!��J  �E�,�K� :  
 `�* �� �����* �590�� + L+�Y 0	 6N�� �
* �� �%
� ��-;
A �;������ �.8+	 �	
� 4.��� E.� +?  + $�� u9 $�& '�
�

�
� �� $��\)D	 + �
Y ��
"3*�A $	�	� �
�E� i�H ��<� `�o)�	 E.� .  
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� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

4 -5-�J�>���� 
� ��L�% �J����B M��"� N�O E�F�P�H:  
4 -3-1  ����� :  

�0 i�H� ���
5.A ���� �� 6��� $�)*+� �
�	�.A �� + U�5)�	 ��
� �J7
� �� ����)��* u9 ��
A �.8
� . u9 I
*

��8�� �
!�� Q, `
<!� +� + -./!� ?�(8
* $+�� ZJY c �\8���� �X�� $	�	� u9 I
* s>
��� �8+ ���� �� �&  ����

 '�
� u9 ?	�X� �E% ���, 0	 �X�� ��) + 4&, �./�	 #:&, �
��� (... +�\8���� 0	 �X��  u9 $	�� �N�� 6<5� �&

��� ��;�	 ���)��* �
� . + �� ��.� ?��8�7� h�*	 ��XRD  $	�	� 6��� u9 =.��� �� �&� �� ��5� �)Y�9 ?�
N ���

�*	 ����)��* �)*GA u9 �� '��()*	 ��% u9 ���.�.� ?�.N
\� 4��)�� . ������� �� $B
8

<� �/� ��;�	 4.
K�&

 4�	 ��
N �	�,�.��*� ?��w	 �� 	� �.!��D . ��
N x�O8 0	 6��� u9 $�& �\8���� �N�� =8�7� 4�	 �� �%
� ��

�*	 `
�D 6��D ���)��* .  

�� ����)��* $�&��� �� �)5.� �
Y u9 U�\� 6O� �8+ '�
� ���0 ��./� u9 ��
A U�\� 6O�  F
� �� ���
\� ����

 �� �"�� F	
�	 + $��� �.(* ��% �, c8�� s����J��� �\8���� ��� $	�	� ���)��* t�� + u9 ��;�	 ��% ����  + �&

�� �	�D '��()*	 ��
� ���)��* ���
� ��0 $�&��� ��.9 .  
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�

 

 

4 -5-2  H�I @��E ���F� �
���) :  

 X�& "��.� Y�� BC�� :  

2��* R����  ���� 5��d   �� 5��d)��>B Y
��(  

3000 300000 900000  

  

 "��� �&��� :  

X���  "�!  
5�
,� 

)N��� ���(  
 ���� �:�>B)Y
��(  

 �� �:�>B)��>B 
Y
��(  

1  v.7/� + $�	������ 3000 10000  30000  

2  �5� ��\� 500 250000  125000  

3  �5� ����.� #E�* $�XY 200 20000  4000  

��%  159000  
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                � � �����	
� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

  

  

  

 �L��D���� :  

X���  "�!  

:���* 5�
,� 

)N��� ���(  
 ���� �:�>B)Y
��(  

 �:�>B��  

 )Y
�� ������(  

1  �.8
� 48�*  420  800000  336000  

2  �&����	  100  800000  80000  

3  @�+�* + $�	�	 ���)��*  �&  60 1100000 66000  

4  ����0���  20 1100000 22000  

5  �	��	�* + ����"�  20 1100000 22000  

��%  526000  

  

 A*
� �Z��� � �
���
� =159000  +526000    =685000 )BY
�� ��>(  
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� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

 
 
  7�ECLZ� 
 7�WC���:  
 

X���  "�!   �� �:�>B)��>B Y
��(  

1  
 ���*� ���) -.* + �5� 6��� @�	�� + �&
!��� =\� Q��5�	 C�

�5� �H
��� $�&(  
326000  

2   ���*��,) + $�	e9 �8
8 + Q��5�	 C�(...  10000  

3  4(!� Z� 0�.)�	  2000  

4  C��� �(H	 + �
��	  10000  

5  �*+M����9 + M����* 6�  40000  

6  Q, + ��
* '�.�� �0�3�  70000  

7  '��5Y $	
& + ��
��  10000  

��%  84000  
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�

  

  

  

 �#�[�����+ Y���
 
 7�+ BC��� :  

X���  
 ��
�� � ]�>�
K' � ]F^ 2�!
� h
.

+B
l��
�*^  
���9'   ���� �:�>B)Y
��(  

�� �:�>B  

 )��>B Y
��(  

1  �D�� �
�
� �� Q�.*,  1  40000000  40000  

2   �
�	��B50 ��	+ 
<.8  1  40000000  40000  

3  '�
� 6�5�  1 4000000 4000  

4  �<�
�  1 5000000 50000  

5   �
*�q��160  1 45000000 450000  

6   ?	E.�;� �� �
<.� M<P  1 7000000 70000  

��%  654000  

 

 ����
�' Y��	 Y�� 
 YD\ Y���
 
 �C?�� ]���
 :  

X���  "�!  9'���   ���� �:�>B)Y
��(  
�� �:�>B  

 )��>B Y
��(  

1  �	�!.� �
)�	�� 1 140000000 140000  

2  E
� �
.���1921 1 400000000 400000  
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                � � �����	
� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

3  ��<.A ��	+ 1 720000000 720000  

��%  612000  

 

 �#��
�' 
 "
�	� 7�ECLZ� :  

X���  "�!  �� �:�>B)��>B Y
��(  

1   $�	�	 �0	
8)E.�-�8�
N-6��Y-
9 + 4(!� ��(...  20000  

2  ����Eq�, �0	
8  20000  

3   �&�9��� ?>,�	E�	)0�.� ?�
N��(  20000  

��%  60000  

  

 "
�	�� ��L� �� Y^K "�# �0�E# :  

X���  "�!  �� �:�>B)��>B Y
��(  

1  �H
��� $�& �5J� + i�H �.��  30000  

2  �&0
;� ���* + @.*�� 0
;� e�	  15000  

3  ��"� �E�)*� + �
J� �9��0�* '�+� �� ��  36000  

4  
 �5���0, $0	��	 '	�)�.8+	 �	
� 0+� '�8����- + $B��	 + ��
*

�E�)*�(  
40000  

��%  121000  

 

 X�& ,��_ "�# �0�E# @
�. :  
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�

X���  "�!   �� �:�>B)Y
�� ������(  

1  4.�0  900000  

2  ���)��* + $0�* �H
O�  685000  

3  ?	E.�;� + ?�/.*��  84000  

4   Z��*+ �.!J�  612000  

5  ?	E.�;� + ?>, 4.���  183000  

6  �&�9��� + $�	�	 ?	E.�;�  60000  

7   '�5� �
.� M.A + �D�()�  200000  

8  $�	��� '��� 0	 6�D $�& �
�E&  121000  

��%  2845000  

 

 H�I ���� ��� �#
%�  

"�0� ��W� 
 �CV
� 	��� :  

X���  A�:� ��,� � ��%�� ����  
 ��W�
�.
�%
�  

����   ���� �:�>B)Y
��(  
�� �:�>B  

 )��>B Y
��(  

1  ?����� �� u9 I
*  10000 2'  22000  220000  

��%  220000  

  

 "�CV�� �C` Y0��� 	ED��	 
 a��\ :  
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�

X���  "�!  ���9'  
 �.
�B
� �:�>B

)Y
��(  

�.
�%
� m�o�  

)��>B Y
��(  

1  6��� ����  1 5000000 60  

2  $�	�	 �8��  1 4000000 48  

3  +�Y ����L  1 400000 48  

4  �5
�  1 26000000 2/31  

5  ����"�  1 26000000 2/31  

6  �	��	�*  1  26000000  2/31  

7  '�
�	�  3 26000000 6/93  

��%  9 -  2/343  


��?�
� ���� s� � O��
U � 
��>�)Y�
9�70%m�o� N�&( 24/240  

 �� N�&  44/583  

  

  

 "�CV�� Y0��� 	ED��	 
 a��\ :  

X���  "�!  ���9'  
�.
�B
� �:�>B

)Y
��(  
 �.
�%
� m�o�)��>B 

Y
��(  

1  ��� ��)*	  1 4000000 48  

2  '�
� �&�� ��.� �9���  2 3000000 36  

3  '��* �9���  2 2600000 2/31  
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�

4  Q�.*, �
�	�A	  1  3000000  36  

5  �
�	��B + �
*�q�� �
�	�A	  1 3000000 36  

��%  7 -  2/223  

�?�
� ���� s� � O��
U � 
��>�
�)Y�
9�70%m�o� N�&( 24/156  

 �� N�&  44/379  

  

 �#)�0 ��
�%� � J�*K �' DL� :  

 A��%�' + A��%�' ��f =44/379  +44/583  =88/962  

  "b��� 
 ,��� �0�E#:  

X���  "�!  ����  
��W�
�.
�%
�  

 ���� �:�>B)Y
��(  
 �� �:�>B) ������
Y
��(  

1  �Y�\� ���  5T
� ]�� ����  140000  1300  182000  

2  �Y�\� Q,  $9	� ���  5000  500  2500  

 ����� ,���:   

4  �(�  ���% 6000 270  1620  

5   6.f+0�9  ���% 250000  200  50000  

6   4�E
�  ���% 10000 4000  40000  

��%  276120  

"
��L[� 
 �CD*� 
 G<L���:   
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� �
��� ���� ������ �� �� �
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�

X���  "�!  ����  
pk
���  A���
l. � ���9'  

�;��  t�g�  �;��  t�g�  

1  ��
���
 526 10  5/25  2  5/10  

2  ]
,��
' 84 12  10  5  4  

3  ���o. u�
�� 565 20  113  10  61.2  

4  ]�>�
K' � ]F^ 2�!
�  145  10  5/14  5  9.15  

5  A���� ]�>�
K'  60  20  12  10  6  

N�&    -  90.85  

  

  

 X�& "
�. "�# �0�E# @
�.  

X���  "�!  �� �:�>B)��>B Y
��(  

1  $�
� �)/� + �.8+	 �	
� 220000  

2  �E�)*� + �
J� 88/962  

3  $B��	 + ��
* 276120  

4  $�	��"� + �.��� 9085  

5  tG�)*	 188.2  

6  L+�Y + $�	�	 �
�E&)1%L+�Y( 25  

7  '�5� �
.� M.A 100  
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��� ���� ������ �� �� �
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�

��%  1591  

  

�CV�� �Cc�� 
 ,��_ "�# �0�E# @
�.:  

X���  "�!  
�:�>B  

)��>B Y
��(  

5�
[ �:�>B  ��v�� �:�>B  

���;  t�g�  �;��  t�g�  

1  A�:� ��,� � ��%�� ���� 220000 0  0  100  220000  

2  
�
:��
� �>���� � m�o�

A��%�'  
58344  70  408408  30  175032  

3  AR�.� � 5��� 276120 20  55224  80  220896  

4  A���
l. � ���9' 9085 20  18170  80  72680  

5  
�.
��
� ����)��>B �� ��

5�
[ ��
���(  
569  100  56900  0  0  

6  ���. +:�� j�U 100000 35  35000  65  65000  

7  pk
��� 1882 100  18820  0  0  

N�& 1515510 -  761902 -  753608  
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                � � �����	
� �
��� ���� ������ �� �� �
�����������  
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�

 d	�� 
	 ������ :  

X���  "�!  �� �:�>B)��>B Y
��(  

1  �.8+	 �	
�)2$�
� �)/� + �.8+	 �	
� '��( 32000  

2  
�	��9 '	
3
� 

)20 ;� �.8
� �
�E& 0+�$�
� �)/� + �	
� E(  
67000  

��%  99000  

 

"
�O� ������ @
�.:   

"�Z 5�
[ A
B �:�>B  N�&)��>B Y
��(  

5�
[ A��\� ��
��� 3606902  

A����� ��
� *� �gd A
B �:�>B 121000  

O��� �� ��
��� 99000  

N�&  3826902  

 

 

 

 

3-  ��%�' 5�?�n        :50000  2'  
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� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

4-  ���� O��? 5��d   :    300000 Y
��  

5-  �� O��?           :15000000000 Y
�� ������  

7-  �� ���� �#o. �g�
�� :  

 �� �� �� �#o. �;�� =100×} )��%�' ���v�� �:�>B-O��?/(��%�' 5�
[ �:�>B{  

5.348  =100×} )753608000-15000000000/(761902000{  

8-  �� �� �� �#o. �� O��? ��>�� :  

 �#o. �� O��?  �� ���� =}) �� O��?/��v�� �:�>B (– 1 { /��%�' 5�
[ �:�>B  

80217   =})15000000000 /753608000 (– 1 { /761902000  

 �w��
. ���        :                                   1348449000 =  151551000  - 150000000000   =��%�' �:�>B  -    O��?

��  

10-  �w�� ��� �g�
�� :  

 �w��
. ���     :                           1348449  

 +'
���T A
B �:�>B ��! +� �,� :  
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                � � �����	
� �
��� ���� ������ �� �� �
�����������  
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�

 A���� �:��U �>���� � m�o�   58344  

              O��? � A���� A
B �:�>B)25000(  

                            +'
���T A
B �:�>B60844  

                             +'
���T ���1287605  

 ��
! +'
���T ��f A
B �:�>B ����� �,�)     :60500(  

 A����� ��
� *� �gd A
B �:�>B pk
���)�%
� ��    (122815.155  

 ]
�%
� �,� *� �gd �w�� ���  

11-  ��
��� 5���� q�. :  

34.05 =  %36069.02  ÷122815.55  = 5�
[ A��\� ��
��� ÷ �w�� ���  

12-  ��
��� 5���� ����   :36  �
�  

 "�Z �;k� :  

 "�Z c�x��: �)
* L+� �� ����)��* u9 �.8
� i�H  
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� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

 5�?�n � ]���%�' c�.:  ���)��* u9  

 2��f
! ���9': 16 �(�  

 "�Z A��\� ��
��� ]
W4��)Y
�� ������ �� h
d��(  

 "�Z �� A��\� ��
��� :                      2738  

 5�
[ A��\� ��
��� :                           2589          

 O��� �� ��
��� :                                  81  

 �.
�%
� ��^�� :                                    2500  

 �w�� ��� :                                            817  

 ��
��� 5��*
� ���� :                           3/3 `�*  

q�.  ��
��� +B�*
� :                            30 %  

  

  

  



                                                                                      
  
  

 
�	��

����� ��	
 ����
�� ����
 ������
 

                � � �����	
� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

4-6-  ���GH ��D�% ��������� 'L�K 
� �J����B M��"�:  

4 -6-1- �����:  

�*	 ���� :� 0	 '��� �, 2	�3)*	 0	 �� -�� W!)3� $�& ��
% �� ����� �.8+	 �	
� $�+,�Y . :� U�N + 2	�3)*	 0	 @A 	��0
� 0	 	� �, ��5
� ����� '��� �� + ��� '��� L+�Y U�N �� 6./��)A :� =��3� + 2	�3)*	 �� ��	E8	 u.& �� ���
N �� #-��� �� 4.

 �� '�.��, 6��� ��G* �� �
� 6O� �� 6./��)A �, `�* �
.!.� �
P �� ��
"���& 	��0 #��	�� �
%+ $�+,�Y '�+EY	 �
* 4��)�� ��
����� �D�� �..o� �+�� ��8�* ��	
� .�� 4�	 ���
� �(.� ?�N
\� 0	 	� �
� M�	� U�5)�	 ?�.!�� :� �H �� �� ��
"���& �)/�

 4��)�� �� ����� `
\O� �.8
� + $�+,�Y $�& L+� F	
�	 �*��� �� $�% G��� ��8�7� :� $�)*	� �� #-��� �� >�� ����� 6./��)A
-.��� �*� 6./��)A �, 0	 '��()*	 �
�E9.  

	 i�H 4�	 `+	 6\Y �� �� ��
"���&�
� �� '��()*	 W!)3� ���
N �� @q�B ���& �� + u9 �.8+	 '��� 0	 �*	 '��, �Y�5)� . �%
� ��
 �, 4.��A ��.D 6� �� + �J7
� �� u9 ������� 4��
P �.8��Y + 6��� u9 =*�
� �.(.� ��)�*	 �+, �
* ��
K�& �� �8�� �� (

��)Y	 6��� u9 �)�� $�+,�Y $	�� ��+� �<Y �� �)/��� .�� �
� �	��	 ��>��  '�+EY	 �
* �� $�+,�Y $�& L+� 0	 �<� �	

� �� 4�	
�Y�9 �	�D �%
� ��
� $0�* =8�D u9 �������.  

  

  MN,#� ��C�� �#
&�6 :  

 �<Y 4<� I
* U�7� ��
�����.Y Z*
� + '�� �)3�� $�+�+ W.D �+�� �� �*	 '�� '��+, ���� 0	 �� �N�� u9 I
*
 �� �<�
� :� + ���".� ��	�& �.Y��10  �.Y�� �� ��
��� ��.Y '�")*� :� + '�� ��
J� ��8 �+�� + ��8 �� ��+ 0	 �� =�<� �)�

20 �
� �� ��	�& ���* �� 4� .�
� �� 6���� $�)<P
� ?��7D �� ����9 �<Y 4<� I
* ��	+ �<�, 0	 @A u9 I
* . I
*
:� �!.*+ �� �� ��� �<Y 4<� I
* �� �<�, 0	 @A  �8�J� �	
� '�")*� `
H �� =*�
� $E!Y M�
A ��6  ��� + �)�500  �!.�

 I
* ���� ?��7D �"�� $
* 0	 ����� �� ��	�& $��� �
�	
8	 �� s��.J)/� 	� ��0 ?	�� �� �
� �� ��	+ ���* :� �+�� �� �)�
* �� u9 �.Y�� �� �5<P 4<� I
15 * �� 4�'�
� ��� u9 I
* 6��� ���� ��� �� ���D �� �
� �� ��	�& ���  ��	� �<��
7�

 �8	 �(N ����	 �� ��� u9 $�
�8/0  	� �)�.!.� 4.����&	
� ��� �� '�� $�
� Q, ��.Y ��	+ u9 @q*  �5<P Q�.*, �� + ���9
 �.Y�� �� [
\3�3  �8	 �(N $�
� ��	� �� ���* �� 4�120  ?	+�	 ���* + �H
��� �
�,�Y �� ���9 �� -/J
� ����� �� �+�<.�


Y �
P 0�.� ��
�Y ��
�;� �� '�.p + �
�	�q* '��+ $�& $GY �
!<.* �
.*>
� �.* $��
�
��� �� �
%
� � .  
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1388-1387

�

 N�O Q��R ���G� ������ :  

 X�& "��.� Y�� BC�� :  

2��* R���� ���� 5��d  �� 5��d)Y
�� ������(  
6000  000/300 1800  

  

 "��� �&��� :  

X���  "�!  
5�
,� 

)N��� ���(  
 ���� �:�>B)Y
��(  

 �� �:�>B) ������
Y
��(  

1  v.7/� + $�	������  6000  10000  60  
2  �5� ��\�  640  250000  160  
3  �5� ����.� #E�* $�XY  1000  20000  20  

��%  240  
  

 �L��D���� :  

X���  "�!  

:���* 5�
,� 

)N��� ���(  
 ���� �:�>B)Y
��(  

 �� �:�>B) ������
Y
��(  

1  �.8
� 48�*  400 000/800  320  
2  	�&����  200 000/800  160  
3  @�+�* + $�	�	 ���)��*  �&  150 000/200/1  120  
4  ����0���  30 000/000/1  30  
5  �	��	�* + ����"�  30 000/000/1  30  

��%  660  
  

 A*
� �Z��� � �
���
� =240  +660    =900   

  

 7�ECLZ� 
 7�WC��� :  



                                                                                      
  
  

 
�		�

����� ��	
 ����
�� ����
 ������
 

                � � �����	
� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

X���  "�!   +:? ]
W4��  
 �� �:�>B) ������

Y
��(  

1  ���*� ���) -.* + �5� 6��� @�	�� + �&
!��� =\� Q��5�	 C�
�5� �H
��� $�&( 

KW250120  

2   ���*��,) + $�	e9 �8
8 + Q��5�	 C�(...  -  80  
3   ���*� 0�9) + $�	e9 �8
8 + Q��5�	 C�(...  -  -  
4  4(!� Z� 0�.)�	  3 Y���.
� 
� u�  10  
5  C��� �(H	 + �
��	  -  30  
6   M����* 6��*+M����9 +  -  20  
7  Q, + ��
* '�.�� �0�3�  -  30  
8  '��5Y $	
& + ��
��  -  10  

��%  300  
  

 �#�[�����+ Y���
 
 7�+ BC��� :  

X���  
��
�� � ]�>�
K' � ]F^ 2�!
� h
.

+B
l��
�*^  
���9'   ���� �:�>B)Y
��(  

 �� �:�>B) ������
Y
��(  

1   u9 I
* ��eo� $��&�")*�  1A�� 000/000/70  70  
2  u9 �3A -)/.*  1A�� 000/000/720 720  
3  $�.9 =8�D u9 $�
� ��	� -)/.*  1A�� 000/000/110 110  
4  ?�J!�)� �� �)3A u9 '�.�� $
!.*  - 000/000/300 400  
5  u9 $�
� �)/� -)/.*  1A�� 000/000/100 100  
6  `
<*��  1A�� 000/000/40  400  
7   =\� �
�E&  1A�� 000/000/160 40  
8    -   160  

��%  1600  
  

  

  

 ����
�' Y��	 Y�� 
 YD\ Y���
 
 �C?�� ]���
 :  



                                                                                      
  
  

 
�	
�

����� ��	
 ����
�� ����
 ������
 

                � � �����	
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1388-1387

�

X���  "�!  ���9'   ���� �:�>B)Y
��(  
 �� �:�>B) ������

Y
��(  
1  ��/.� ��	+ 1 000/000/80  80  

��%  56580  
  

 �#��
�' 
 "
�	� 7�ECLZ� :  

X���  "�!  �� �:�>B)Y
�� ������(  
1   $�	�	 �0	
8)E.�-�8�
N-6��Y- + 4(!� ��
9(...  30  
2  ����Eq�, �0	
8  20  

��%  50  
  

 "
�	�� ��L� �� Y^K "�# �0�E# :  

X���  "�!  �� �:�>B)Y
�� ������(  
1  �H
��� $�& �5J� + i�H �.��  40  
2  �&0
;� ���* + @.*�� 0
;� e�	  10  
3   �9��0�* '�+� �� ����"� �E�)*� + �
J�  96  

4   �5���0, $0	��	 '	�)��.8+	 �	
� 0+� '� `���- + $B��	 + ��
*
�E�)*�(  

134  

��%  280  
  

  

 X�& ,��_ "�# �0�E# @
�. :  

X���  "�!  �� �:�>B)Y
�� ������(  
1  4.�0  1800  
2  ���)��* + $0�* �H
O�  900  
3  ?	E.�;� + ?�/.*��  300  
4   �.!J� Z��*+  80  
5  ?	E.�;� + ?>, 4.���  1600  
6  �� + $�	�	 ?	E.�;��&�9�  5  
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��� ���� ������ �� �� �
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1388-1387

�

7   '�5� �
.� M.A + �D�()�  270  
8  $�	��� '��� 0	 6�D $�& �
�E&  280  

��%  5280  
  

 H�I ���� ��� �#
%�  

 "�0� ��W� 
 �CV
� 	��� :  

X���  A�:� ��,� � ��%�� ����  
��W�
�.
�%
�  

����   ���� �:�>B)Y
��(  
 �� �:�>B) ������

Y
��(  
1   u9 I
*  36000 2' 8000  288  
   ���A�Y�\�  621000 ��T 2000  1242  
   -��* ?	�).*)L�.9 ���0 '�
&��(  3000 ���� 60000  180  

��%  1710  
  

  

 "�CV�� �C` Y0��� 	ED��	 
 a��\:   

X���  "�!  ���9'  
 �.
�B
� �:�>B

)Y
��(  
 �.
�%
� m�o�

)Y
�� ������(  
1  6��� ����  1 000/000/6    
2  �	���/�  1 000/000/3    
3  �Y `
]/� L+  1 000/000/3    
4  '�
�	�  2 000/000/3    
5  0	��A���  1 000/000/3    
6  ?����  1 00/600/2    
7  ����"� + �	��	�*  2 000/600/2    

��%  -  --    

��?�
� ���� s� � O��
U � 
��>�)Y�
9�70%m�o� N�&(   

 �� N�&    
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1388-1387

�

 "�CV�� Y0��� 	ED��	 
 a��\ :  

X���  "�!  ���9'  
 �.
�B
� �:�>B

)Y
��(  
 �.
�%
� m�o�

)Y
�� ������(  
1  ������� ����  1 000/000/6    
2  �
Y 4./
<�  3 00/500/4    
3  �&�� �9���  3 000/000/4    
4  �&�� ��.� �9���  3 00/500/3    
5  '��* �9���  10 000/600/2    
6  `
<*�� `
]/�  1 000/600/2    

��%  21 -    

��?�
� ���� s� � O��
U � 
��>�)Y�
9�70%m�o� N�&(   

 �� N�&    
  

  

  

  

 "b��� 
 ,��� �0�E#  

X���  "�!  ����  ��W�
�.
�%
�  ���� �:�>B)Y
��(   �� �:�>B) ������

Y
��(  
1  �Y�\� ���  5T
� ]�� ���� 000/500 1300  650  
2  �Y�\� Q,  $9	� ��� 000/20 500  10  

+?�W� 5���: 
4  �(�  ���% 000/25   10  
5   6.f+0�9  ���% 000/350/1    270  
6   4�E
�  ���% 500/7   60  

��%  1000  
  

"
��L[� 
 �CD*� 
 G<L���  :  
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                � � �����	
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��� ���� ������ �� �� �
�����������  
1388-1387

�

X���  "�!  ����  
pk
���  A���
l. � ���9'  

�;��  t�g�  �;��  t�g�  
1  �
���
� 900 10 90  2  18  
2  ]
,��
' 200 12 36  5  15  
3  ���o. u�
�� 80 20 16  10  8  
4  ]�>�
K' � ]F^ 2�!
� 1600 10 160  5  80  
5  A���� ]�>�
K' 50 20 10  10  5  

N�&  312  -  126  
  

X�& "
�. "�# �0�E# @
�.:  

X���  "�!  �� �:�>B)Y
�� ������(  
1  $�
� �)/� + �.8+	 �	
�    
2  �E�)*� + �
J�   
3  $B��	 + ��
*   
4  $�	��"� + �.���   
5  tG�)*	 312  
6  L+�Y + $�	�	 �
�E&)1%L+�Y( 66  
7  � �
.� M.A'�5 184  

��%  4800  
�CV�� �Cc�� 
 ,��_ "�# �0�E# @
�.:  

X���  "�!  
 �:�>B  

)Y
�� ������(  
5�
[ �:�>B  ��v�� �:�>B  

�;��  t�g�  �;��  t�g�  
1  A�:� ��,� � ��%�� ���� 1710 0 0  100  1710  

2  
�
:��
� �>���� � m�o�

A��%�'  
  70    30    

3  AR�.� � 5���  20   80    
4  
l. � ���9'A��� 126 20 25  80  101  

5  
�.
��
� ����)��>B �� ��
5�
[ ��
���(  

10  100  10  0  0  

6  ���. +:�� j�U 163 35 57  65  106  
7  pk
��� 312 100 312  0  0  
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� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

N�&  4300 - 1289  -  3011  
  

 d	�� 
	 ������ :  

X���  "�!  �� �:�>B)Y
�� ������(  
1   �.8+	 �	
�)2 
� �)/� + �.8+	 �	
� '��$� (  285  

2  
 �	��9 '	
3
�  

)20 $�
� �)/� + �	
� E;� �.8
� �
�E& 0+�(  
175  

��%  460  
  

  

  

 "
�O� ������ @
�.  

"�Z 5�
[ A
B �:�>B  N�&)Y
�� ������(  
5�
[ A��\� ��
��� 5000  

A����� ��
� *� �gd A
B �:�>B 280  
O��� �� ��
��� 460  

N�&  5740  
  

3-  ��%�' 5�?�n       : 000/30  2'  

4-  ���� O��? 5��d        :000/220 Y
��  

5-  �� O��?           :6600 Y
�� ������  

6-  ��%�' ���� �B ��! h
�' 5��d          :Y
��  

7-  �� ���� �#o. �g�
�� :  

 �� �� �� �#o. �� O��? =})�� O��?/��v�� �:�>B (-1 {/��%�' 5�
[ �:�>B  
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� �
��� ���� ������ �� �� �
�����������  
1388-1387

�

2370  =})600÷3011(-1 {÷1289  

7- �� �� �� �#o. �� O��? ��>�� :  
  �� ���� �#o. �� O��? =}) �� O��?/��v�� �:�>B (– 1 { /��%�' 5�
[ �:�>B  

2370  = })6600  ÷3011 (– 1  { ÷1289  

9-  �w��
. ���                           :2300 =43300-6600 = ��%�' �:�>B– �� O��?  

10-  �w�� ��� �g�
�� :  


. ��� �w��                                     :2300  

 +'
���T A
B �:�>B ��! +� �,� :  

         A���� �:��U �>���� � m�o�)123(  

              O��? � A���� A
B �:�>B)66(  

                            +'
���T A
B �:�>B)489(  

                              +'
���T ���1811  

 ��
! +'
���T ��f A
B �:�>B ����� �,�     :  

 A����� ��
� *� �gd A
B �:�>B pk
���)�%
� ��)                            (140(  

                                                             ]
�%
� �,� *� �gd �w�� ���1671  

11-  ��
��� 5���� q�. :  

33 =  %100 ) *5000  ÷1671  = (100   * 5�
[ A��\� ��
��� ÷ �w�� ���  

12-  ��
��� 5���� ����   :36  �
�  

 


